
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2013
CLASS : VI

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (25+25+25+25)=100

General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX
1. Raisina Hill houses the residence of India's ................

"»ç+×$K÷Xç ×c÷_' YÒçaçVäOôç \öç»Tö» ....................» [ýça\ö¾X* / "Ì[ýç+×aXç ×c÷_' A \öçÌ[ýãTöÌ[ý ................................ [ýça\ö[ýX*
(A) President (B) Prime Minister (C) CM of Delhi (D) None of these

»çrÑôY×Tö / Ì[ýçrÑôY×TöÌ[ý YÒWýçX]Ü—öÝ / YÒWýçX]Ü—öÝÌ[ý   ×V{Ý» ]ÉFî]Ü—öÝ/×V{ÝÌ[ý ]ÇFî]Ü—öÝÌ[ý AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
2. The disease that is classified into type-1 and type-2 is ..................

Oôç+Y-1 %ç»Ó Oôç+Y-2 ×c÷$JôçãY ×[ý\öNþ Eõ×»[ý Y»ç å»çG×[ýWý éc÷ä$K÷ ...............* / Oôç+Y-1 A[ýe Oôç+Y-2 ×c÷açã[ý ×[ý\öNþ Eõ×Ì[ýãTö YçÌ[ýç åÌ[ýçG×Oô c÷_ ................*
(A) common cold (B) diabetes (C) hepatitis (D) night blindness

$JôVÞ / a×VÛ QöçÌ̂ ã[ý×Oô$K÷ / QöçÌ̂ ã[ý×Oôa åc÷YçOôç+×Oô$K÷ / åc÷YçOôç+×Oôa EÇõEÇõ»Ý EõSç / Ì[ýçTöEõçXç
3. The state in India that has the longest coastline of about 1600 km is :

%çOôç+TöêEõ VÝH_ÝÌ̂ ç %Uïçd YÒçÌ̂  1600 ×Eõ.×]. =YEÉõ_ÝÌ̂  %‡û_ UEõç \öç»Tö» »çLîFX éc÷ä$K÷ ......................
a[ý»Jôç+ãTö éVHïîTö] TöOôãÌ[ýFç YÒçÌ̂  1600 ×Eõ.×]. \öçÌ[ýãTöÌ[ý ............................ Ì[ýçLî %çä»K÷*
(A) Odisha (B) Maharashtra (C) Gujarat (D) Tamilnadu

=×QÍöbç ]c÷ç»çrÑô / ]c÷çÌ[ýçrÑô mL»çOô / mLÌ[ýçOô Töç×]_XçQÇö
4. The comedian who directed the television shows 'Flop Show' and 'Ulta Pulta' is ...............

VÉ»V ï̀XTö YÒV× ï̀Tö åc÷ç¾ç "nõY ̀ Ÿ' %ç»Ó "=·Oôç-YÇ·Oôç'» ×XãVÛ̀ Eõ %ç×$K÷_ åEõìTÇöEõ %×\öãXTöç ....................
VÉÌ[ýV ï̀ãX YÒV× ï̀Tö c÷CÌ̂ ç "nõY Ÿ̀' A[ýe "=·Oôç-YÇ·Oôç'Ì[ý ×XãVÛ̀ Eõ ×»K÷ã_X ...............................*
(A) Satish Shah (B) Raghubir Yadav (C) Rakesh Bedi (D) Jaspal Bhatti

aTöÝ` ̀ Ÿçc÷ »HÇ[ýÝ» ^çV¾ / Ì[ýHÇ[ýÝÌ[ý ^çV[ý »çãEõ` å[ýVÝ/Ì[ýçãEõ` å[ýVÝ ^`Yç_ \övôÝ
5. Choose the correct answer for the box with '?'

'?' UEõç [ýçEõ$JôTö c÷[ý_GÝÌ̂ ç £ˆù =wø»äOôç éc÷ä$K÷ .......................* / '?' UçEõç [ýçãj £ˆù =wøÌ[ý×Oô c÷ã[ý .................................*

?
(A) (B) (C) (D)

6. 'Like', 'Comments', 'Share' used in .................
_ç+Eõ, Eõã]°Oô, å Ÿ̀Ì̂ ç» %ç×V ........................ Tö [ýî¾c÷ç» c÷Ì̂ * / "_ç+Eõ', "Eõã]³Oô', "å Ì̀̂ çÌ[ý' A+m×_ ........................ A [ýî[ýc÷çÌ[ý c÷Ì̂ *
(A) Orkut (B) Twiter (C) Facebook (D) None of these

%EÇïõOô OÇô+Oôç» / OÇô+OôçÌ[ý åZõ+$Jô[ýÇEõ / åZõa[ýÇEõ AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
7. Head Quarters of the UNO is situated at ..................

»çrÑôaeH» ]ÉFî Eõç ï̂îç_Ì̂  ................................ Tö %¾×ØšöTö* / Ì[ýçrÑôaeãHÌ[ý ]ÇFî Eõç ï̂îç_Ì̂  ................................. A %[ý×ØšöTö*
(A) Washington (B) London (C) New York (D) Geneva

¾ç× Ÿ̀eOôX / CÌ̂ ç×`eOôX _‰øX ×X=Ì̂ Eïõ åLãX\öç
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8. In 'Pin Code' the word 'PIN' stands for ..................
×YX åEõçQöTö UEõç 'PIN' `ŒäOôç» a¶YÉSï »ÖY éc÷ä$K÷ ..............................* / "×YX åEõçQö' ̀ Œ×OôãTö 'PIN' AÌ[ý a¶YÉSï %Uï .............................*
(A) Postal Index Number (B) Private Income Number

åYçärô_ +XãQöj Xç¶‘öç» / åYçäºOô_ +XãQöj Xç¶‘öçÌ[ý YÒç+ã\öOô +XEõç] Xç¶‘öç» / YÒç+ã\öOô +XEõç] Xç¶‘öçÌ[ý
(C) Permanent Income Number (D) Postal Indian Number

Yç»]çãX°Oô +XEõç] Xç¶‘öç» / YçÌ[ý]çãX³Oô +XEõç] Xç¶‘öçÌ[ý åYçärô_ +×‰øÌ̂ çX Xç¶‘öç» / åYçäºOô_ +×³QöÌ̂ çX Xç¶‘öçÌ[ý
9. Indian Constitution was adopted on ....................

\öç»TöÝÌ̂  ae×[ýWýçX ............................... Töç×»ãF GÊc÷ÝTö éc÷×$K÷_* / \öçÌ[ýãTöÌ[ý ae×[ýWýçX ................................. Töç×Ì[ýãF GÊc÷ÝTö c÷Ì̂ *
(A) 26 January, 1950 (B) 26 November, 1949 (C) 15 August, 1947 (D) None of these

$1950 JôX» 26 LçXÇ¾ç»Ý 1949 $JôX» 26 Xã\ö¶‘ö» 1947 $JôX» 15 %çGrô AOôçC Xc÷Ì̂
$1950 aãXÌ[ý 26 LçXÇÌ^çÌ[ýÝ 1949 aãXÌ[ý 26 Xã\ö¶‘ö Ì[ý 1947 aãXÌ[ý 15 %çGrô AEõ×OôC XÌ̂

10. Find the odd one :
%×]_äOôç [ýç×$K÷ =×_C¾ç f / %×]_×Oô å[ýä»K÷ XçC f
(A) Nike (B) Reebok (C) Puma (D) Foot wear

Xç+Eõ ×»[ýEõ / ×Ì[ý[ýEõ YÇ]ç LÇTöç
11. The main source of irrigation of agricultre land in India is ..................

\öç»TöTö EÊõ×b \Éö×]» [ýçã[ý L_×a‡ûX» YÒWýçX =da éc÷ä$K÷ ................* / \öçÌ[ýãTöÌ[ý EÊõ×b\Éö×]Ì[ý LXî L_×a‡ûãXÌ[ý YÒWýçX =da c÷_ ......................*
(A) Tanks (B) Rivers (C) Wells (D) Canals

L_çWýç» / YÇEÇõÌ[ý XVÝ EÇõg¾ç / EÇõÌ̂ ç X_ç / Fç_
12. 'Direct cool' and 'Frost free' are types of which household equipment ?

Tö_» åEõçXäOôç H»Ó¾ç aç]GÐÝ» é[ý×`rô éc÷ä$K÷ "Qöç+ã»kô EÇõ_' %ç»Ó ZÐõrô ×ZÐõ ? / "×QöãÌ[ýkô EÇõ_' A[ýe "ZÐõrô ×ZÐõ' XÝä»JôÌ[ý åEõçX HãÌ[ýçÌ̂ ç aÌ[ýtçã]Ì[ý é[ý×`rô ?
(A) Washing Machine (B) Micro wave (C) Refrigerator (D) Air conditioner

¾ç× Ÿ̀e å]×$K÷X / CÌ̂ ç×`e å]×`X ]ç+yÔã¾[ý / ]ç+yÔCãÌ̂ \ö å»×ZÐõLçã»Oô» / åÌ[ý×ZÐõLçãÌ[ýOôÌ[ý  AÌ̂ ç» Eõ×‰ø$JôXç» / AÌ̂ çÌ[ý Eõ×³Qö`XçÌ[ý
13. The planet that is called the twin of the earth :

YÊ×U¾Ý» ^]L GÐc÷äOôç éc÷ä$K÷ ............................* / YÊ×U[ýÝÌ[ý ^]L GÐc÷ ........................... GÐc÷ãEõ [ý_ç c÷Ì̂ *
(A) Mercury (B) Venus (C) Mars (D) Jupiter

[ýÇWý £yÔ ]†_ [ýÊc÷&×Tö
14. The wildlife sanctuary 'Chakrasheela', famous for golden langur, is in the district of :

åaçSç_Ý[ýç³V»» [ýçã[ý ×[ýFîçTö $JôyÔ`Ý_ç %\öÌ̂ ç»Sî ............................. ×L_çTö %¾×ØšöTö*
åaçSç_Ý[ýçXãÌ[ýÌ[ý LXî ×[ýFîçTö »JôyÔ`Ý_ç %\öÌ̂ çÌ[ýSî ......................... ×L_çÌ̂  %[ý×ØšöTö*
(A) Sonitpur (B) Morigaon (C) Cachar (D) Dhubri

å`ç×STöYÇ» / å`ç×STöYÌ[ý ]×»GçCg / ]×Ì[ýGçCg Eõç$K÷ç» / Eõç»K÷çQÍö WýÇ[ýÇ»Ý / WýÇ[ýÇÌ[ýÝ
15. Who was known as Deshbhakta ?

åV`\öNþ [ýÇ×_ EõçEõ LXç ̂ çÌ̂  ? / åV`\öNþ EõçãEõ [ý_ç c÷Ì̂  ?
(A) Nabin Chandra Bordoloi (B) Tarunram Phukan

X[ýÝX$Jô³VÐ [ý»Vê_ / X[ýÝX»Jô³VÐ [ýÌ[ýVê_ Tö»ÓS»ç] ZÇõEõX / TöÌ[ýÓSÌ[ýç] ZÇõEõX
(C) Anandaram Barua (D) Bhagat Sing

%çX³V»ç] [ý»Ó¾ç / %çX³VÌ[ýç] [ýÌ[ýÓÌ^ç \öGTö ×ae



- 3 -

16. Which of these can not be the same for two different persons ?
Tö_» åEõçXäOôç VÇLX [ýî×Nþ» ålùyTö åEõ×TöÌ̂ çC AãEõ Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô VÇLX [ýî×NþÌ[ý ålùäy EõFXC AEõ c÷Ì̂  Xç ?
(A) Fingerprints (B) Skin colour (C) Eye colour (D) Blood group

×ZõeGç» ×YÒ°Oô / %ç†Çã_Ì[ý K÷çY $K÷ç_» »e / ±¼öãEõÌ[ý Ì[ýe $JôEÇõ» »e / æJôçãFÌ[ý Ì[ýe åTöL» GÐÓY / Ì[ýãNþÌ[ý GÐÓY
17. In the panchayat system, 'ANCHALIK PANCHAYAT' is formed with the voters of the ............... area

Y‡ûçÌ̂ TöÝ »çL [ýî¾ØšöçTö ""%ç‡û×_Eõ Y‡ûçÌ̂ Tö GPöX Eõ»ç c÷Ì̂  .................... Aã_Eõç» å\öçOôç» aEõ_» ¥ç»ç*''
Y‡ûçÌ̂ TöÝ [ýî[ýØšöçÌ̂  "%ç‡û×_Eõ Y‡ûçÌ̂ Tö' GPöX EõÌ[ýç c÷Ì̂  ................................... A_çEõçÌ[ý å\öçOôçÌ[ý aEõã_Ì[ý ¥çÌ[ýç*
(A) Zila Parishad (B) Gaon Panchayat (C) Town Committee (D) None of these

×L_ç Y×»bV / ×L_ç Y×Ì[ýbV GçCg Y‡ûçÌ̂ Tö Oôç=X Eõ×]×Oô AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
18. 'Monarchy' in its limited form still prevails in :

aÝ×]Tö\öçã[ý c÷ã_C »çLTöÜ—ö A×TöÌ̂ çC ..................... Tö $Jô×_ %çä$K÷* / Ì[ýçLTöÜ—ö aÝ×]Tö\öçã[ý AFXC ..................... A YÒ»Jô×_Tö %çä»K÷*
(A) England (B) Saudi Arabia (C) Nepal (D) Sweden

+eã_‰ø / +eã_³Qö æ$K÷ì×V %ç»[ý / æaì×V %çÌ[ý[ý åXYç_ $KÇ÷+ãQöX / aÇ+ãQöX
19. World Peace Day is observed on :

×[ý Ÿ̀ `ç×Ü™ö ×V¾a ........................ Töç×»ãF Yç_X Eõ»ç c÷Ì̂ * / ×[ý Ÿ̀ `ç×Ü™ö ×V[ýa ............................. Töç×Ì[ýãF Yç_X EõÌ[ýç c÷Ì̂ *
(A) March 21 (B) June 17 (C) September 21 (D) November 17

21 ]ç$JôÛ 17 LÇX 21 æ$K÷ãŠ¶‘ö» / åaä´Oô¶‘öÌ[ý 17 Xã\ö¶‘ö» / Xã\ö¶‘öÌ[ý
20. The Women Cricket World Cup Final, 2013 was played between ........................

2013 $JôX» ]×c÷_ç ×yÔãEõOô ×[ý Ÿ̀EõçY» Zõç+ãX_ åF_FX ............................ » ]çLTö %XÇ×œöTö éc÷×$K÷_*
2013 aãXÌ[ý ]×c÷_ç ×yÔãEõOô ×[ý Ÿ̀EõçãYÌ[ý Zõç+ãX_ åF_ç×Oô .......................... ]ãWýî %XÇ×œöTö c÷Ì̂ *
(A) India & Australia (B) West Indies & Australia

\öç»Tö %ç»Ó %ärÑô×_Ì̂ ç / \öçÌ[ýTö C %ärÑô×_Ì̂ çÌ[ý å¾rô +×‰øL %ç»Ó %ärÑô×_Ì̂ ç / CãÌ̂ rô +×³QöL C %ärÑô×_Ì̂ çÌ[ý
(C) England & West Indies (D) England & Newzeland

+eã_‰ø %ç»Ó å¾rô +×‰øL / +eã_³Qö C CãÌ^rô +×³QöåLÌ[ý +eã_‰ø %ç»Ó ×X=×Lã_‰ø / +eã_³Qö C ×X=×Lã_ã³QöÌ[ý
21. 'Kumbha Mela 2012' was held in ...........

2012 $JôX» EÇõ•öã]_ç ................. Tö %XÇ×œöTö éc÷×$K÷_* / 2012 aãXÌ[ý EÇõ•öã]_ç .............................. %XÇ×œöTö c÷Ì̂ *
(A) Nasik (B) Ujjain (C) Haridwar (D) Allahabad

Xç×$JôEõ / Xç×aEõ QöO#×Ì^SÝ / QöO#×Ì^SÝ c÷×»¥ç» / c÷×Ì[ý¥çãÌ[ý
A_çc÷ç[ýçV

22. Rip Van Winkle sleeps through :
»ÝY \öX =+eEõ_ ............................. » a]Ì̂ Tö ×XVÐç éG×$K÷_* / ×Ì[ýY å\öX =+eEõ_ ............................ a]Ì̂  HÇ]çÌ̂ *
(A) Dinner (B) Civil war (C) War of 1812 (D) American Revolution

»ç×Tö» %çc÷ç» åFç¾ç GÊc÷ Ç̂̂ ù 1812 $JôX» ̂ Ç̂ ù %çã]×»Eõç» ×[ýYÀ¾
Ì[ýçãTöÌ[ý FçCÌ̂ çÌ[ý GÊc÷^ÇãˆùÌ[ý 1812 aãXÌ[ý Ç̂ãˆùÌ[ý %çã]×Ì[ýEõç ×[ýYÀã[ýÌ[ý

23. The television show 'Satyamev jayate' was anchored by ...............
"aTöîã]Ì̂  LÌ̂ ãTö' %XÇœöçXäOôç æOô×_×\ö$JôXTö .................. A =YØšöçYX Eõ×»×$K÷_* / "aTöîã][ý LÌ̂ ãTö' %XÇrôçX×Oô æOô×_×\ö`ãX .................. =YØšöçYX EõãÌ[ýX*
(A) Shahrukh Khan (B) Salman Khan (C) Amir Khan (D) Ayushman Khurana

Ÿ̀çc÷»ÓF FçX $K÷_]çX FçX %ç×]» FçX %çÌ̂ Ça]çX FÇ»çXç



`çc÷Ì[ýÓF FçX a_]çX FçX %ç×]Ì[ý FçX %çÌ̂ Ç̀ ½çX FÇÌ[ýçXç
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24. Find the old one out :
%×]_äOôç [ýç×$K÷ =×_C¾ç f / %×]_×Oô å[ýä»K÷ XçC f
(A) Brother-Sister (B) Mother-Father (C) Uncle-Aunt (D) Husband-Wife

\öç+-\ö×X / \öç+-ã[ýçX ]ç-ãV=Töç / ]ç-[ýç[ýç FÇQÍöç-FÇQÍöÝ / EõçEõç-EõçEõÝ Ø‘öç]Ý-Ø—öÝ / Ø‘öç]Ý-Ø—öÝ
25. Mughal Empress Mumtaz Mahal died at ......................

å]çG_ a¶ƒöçpûÝ ]]TöçL ]c÷_» ]ÊTÇöî .................................. Tö éc÷×$K÷_*
å]çG_ aç¶ƒöçpûÝ ]]TöçL ]c÷ã_Ì[ý ]ÊTÇöî ....................................... A c÷ãÌ̂ ×»K÷_*
(A) Delhi (B) Agra (C) Burhanpur (D) None of these

×V{Ý %çGÐç [ýÇ»c÷çXYÇ» / [ýÇÌ[ýc÷çXYÇÌ[ý AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

General English

26. Pick out the correct one :
(A) Every poet is not Rabindranath (B) Every poet is not a Rabindranath
(C) Every poet is not the Rabindranath (D) None of the above is correct.

27. Pick out the correct one :
(A) Each of the girls was given a rose. (B) Each of the girl was given a rose.
(C) Each of the girls were given roses. (D) Each girls were given roses.

28. A ''box'' is to boxes while ''ox'' is to :
(A) oxes (B) oxen (C) oxees (D) ox

29. An empty vessel sounds ...........................
(A) more (B) most (C) much (D) many

30. The hens have ........................... no eggs today.
(A) lain (B) laid (C) lay (D) lied

31. I took him ........................... our guest .
(A) as (B) to (C) for (D) after

32. We eat so that we ........................... live.
(A) must (B) could (C) may (D) should

33. We were all surprised ...........................  the news.
(A) by (B) at (C) with (D) for

34. Next time you ........................... to my house, you must bring that book.
(A) will come (B) are coming (C) may come (D) come

35) Fill the bottle  ----------- hot water.
(A) in (B) by (C) with (D) of

36. Hardly had we reached school ---------------- the bell rang.
(A) than (B) when (C) then (D) and

37. A student who runs away from school without permission is called a ...........................



(A) juvenile (B) truant (C) delinquent (D) convict
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38. Beautiful handwriting can be expressed in one word as ...........................
(A) cartography (B) ethnography (C) calligraphy (D) handicraft

39. Pick out the correct passive voice form of the sentence -
"Who teaches you English ?"
(A) English is taught by whom ? (B) By whom will you be taught English ?
(C) By whom were you taught English (D) By whom are you taught English ?

40. The correct active voice form of the sentence - "He is known to be a rich man" is :
(A) It is known that he is a rich man (B) Everyone knows that he is a rich man.
(C) who doesn't know that he is a rich man ? (D) It is known by all  that he is a rich man.

41. If the following sentence is converted to indirect narration, it will read  :
Mummy said, " I shall write a letter".
(A) Mummy said that she will write a letter. (B) Mummy said she should write a letter.
(C) Mummy said that she would write a letter (D) Mummy said that she should write a letter.

42. If the following sentence is converted to Direct speech , it will read like :
" He asked me how I was ?"
(A) He asked , "How you are ?" (B) He said, " How am I ?"
(C) He asked to me, " How are you ?" (D) He said to me, " How are you?"

Pick out the correct meaning of the idiom in the following sentence.
43. At last he found his rival at bay.

(A) He found him near the sea beach (B) He found him in a tight corner.
(C) He found him at a restaurant named Bay. (D) None of the above

44. I am quite in the dark, so I can not give any comment on this.
(A) There is a power failure now. (B) I have not brought a torch, so I can not see anything.
(C) I am ignorant about the matter. (D) None of the above.

45. Give the correct meaning of the word in bold underline.
She is an obstinate child.
(A) Stubborn (B) Pretty (C) Clever (D) Dull

46. I must get it done by means fair or ...........................
(A) good (B) bad (C) foul (D) smooth

47. A prefix is a letter or number of letters which can be added at the beginning of  a word to get a new word.
Which

of the following prefixes can be put before the words to get meaningful words ?
Operate,     exist,     ordinate,     existence

(A) Co (B) in (C) non (D) de
48. A suffix is a letter or number of letters which can be added at the end of a word to get a new word. Which of the

following suffixes can be put after the following words to get meaningful words?
hill          bull          butt          padd

(A) Y (B) ow (C) ock (D) er



49. Thermometer is to temperature  as Barometer is to ...........................
(A) height (B) pressure (C) speed (D) depth
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50. Peel is to banana as .. is to  nut.
(A) covering (B) rind (C) kernel (D) shell

General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö

51. Roman numeral for the greatest three digit number is .................
×Tö×XOôç %eEõ ×[ý×`rô %çOôç+TöêEõ QöçIø» aeFîç [ýÇãLç¾ç å»ç]çX aeFîçäOôç éc÷ä$K÷ .......................*
×TöX %eEõ ×[ý×`rô a[ýï[ýÊc÷d aeFîç [ýÇLçãXç åÌ[ýç]çX aeFîç×Oô c÷_ ...........................*
(A) IXIXIX (B) CMIXIX (C) CMLXIX (D) CMXCIX

52. The difference between the place value and face value of 5 in 91,25,678 is ....................
91,25,678 is .................... Tö 5 » ØšöçXÝÌ̂  ]çX %ç»Ó açe×FîEõ ]çX» YçUïEõî .......................
91,25,678 åTö 5 AÌ[ý ØšöçXÝÌ̂  ]çX A[ýe açe×FîEõ ]çãXÌ[ý YçUïEõî .......................................*
(A) 0 (B) 4995 (C) 4095 (D) 5000

53. If 'a' and 'b' are whole numbers then which of the following is true ?
^×V 'a' %ç»Ó 'b' YÉSï aeFîç c÷Ì̂  åTöãÜ™ö Tö_» åEõçXäOôç aTöî ? / ̂ ×V 'a' A[ýe 'b' YÉSï aeFîç c÷Ì^, Töã[ý XÝä»JôÌ[ý åEõçX×Oô aTöî ?
(A) a÷b is a whole number (B) a÷b = b÷a

a÷b AOôç YÉSï aeFîç / a÷b AEõ×Oô YÉSï aeFîç
(C) both A & B (D) None of these

A %ç»Ó B =\öÌ̂  / A A[ýe B =\öãÌ̂ AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
54. The value of 498 x 73 + 498 x 27 is ................................

498 x 73 + 498 x 27 » ]çX .........................* / 498 x 73 + 498 x 27 AÌ[ý]çX ...........................*
(A) 4980 (B) 49,800 (C) 498,000 (D) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
55. Number of prime numbers from 1 to 50 are .................

1 » Y»ç 50 é_ãEõ å]ì×_Eõ aeFîç» aeFîç éc÷ä$K÷ ..........................* / 1 åUãEõ 50 AÌ[ý å\öTöãÌ[ý UçEõç å]çOô å]ì×_Eõ aeFîç ......................*
(A) 20 (B) 14 (C) 15 (D) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
56. The hour hand of a clock is rotated clockwise from 11 to 2. Determine by what degree the hour hand is rotated

clockwise
AOôç HQÍöÝTö H°Oôç» EgõçÅOôçQöç_ 11 » Y»ç 2 é_ãEõ HQÍöÝ» EgõçÅOôç HÉ»ç ×V`Tö HÉ×»ã_* EõçgOôçQöç_ ×Eõ]çX ×QöGÐÝ HÉ×»ã_ ×XSïÌ̂  Eõ»ç*
AEõ×Oô H×QÍöãTö H³OôçÌ[ý EgõçÅOôç×Oô 11 åUãEõ 2 Oôç V×lùSç[ýãTöÛ åHçÌ[ýã_ EgõçÅOôç×Oô EõTö ×QöGÐÝ åHçÌ[ýã_ç ?
(A) 30 (B) 60 (C) 90 (D) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
57. Number of line segments used in the figure of a cuboid is ...................

%çÌ̂ TöÝÌ̂  HXEõ AOôçTö UEõç å»FçF‰ø» aeFîç ................* / %çÌ̂ TöÝÌ̂  HXãEõ UçEõç åÌ[ýFçFã‰øÌ[ý aeFîç ..........................*



(A) 6 (B) 8 (C) 12 (D) None of these
AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
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58. In the given figure the area of the circle is 9π m2. Find the area of the quadrilateral ABCD.
×$JôyTö åVFÇC¾ç [ýÊwø» Eõç×_ ̂ ×V 9π ×]Oôç»2 c÷Ì̂ , åTöãÜ™ö $ABCD JôTÇö\ÉöÛL» Eõç×_ =×_C¾ç*
×»Jôäy åVFçãXç [ýÊãwøÌ[ý Eõç×_ ^×V 9π ×]OôçÌ[ý2 c÷Ì̂ , Töã[ý ABCD »JôTÇö\ÇöÛãLÌ[ý Eõç×_ c÷ã[ý .....................*

A D

B C

(A) 9m2 (×].)2 (B) 36m2 (×].)2 (C) 81m2 (×].)2 (D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

59. Which of the following statements is false ?
Tö_» åEõçXäOôç =×Nþ ×]$K÷ç ? / XÝä»JôÌ[ý åEõçX =×Nþ×Oô ×]Uîç ?
(A) A line segment has two end points (B) A line has no end points

AQöç_ å»FçF‰ø» VÇOôç YÒçÜ™ö ×[ý³VÇ %çä$K÷ AQöç_ å»Fç» åEõçãXç YÒçÜ™ö ×[ý³VÇ Xç+
AEõ×Oô åÌ[ýFçFã³QöÌ[ý VÇ×Oô YÒçÜ™ö×[ý³VÇ %çä»K÷ AEõ×Oô åÌ[ýFçÌ[ý åEõçX YÒçÜ™ö ×[ý³VÇ Xç+

(C) A ray has only one end point (D) None of these
AQöç_ »×`½» YÒçÜ™ö ×[ý³VÇ ]çy AOôç / A$OôçC Xc÷Ì̂
AEõ×Oô Ì[ý×`½Ì[ý YÒçÜ™ö×[ý³VÇ ]çy AEõ×Oô AEõ×»OôC XÌ̂

60. Measure of ∠Y is ..................
∠Y » ]çY ........................ / ∠Y AÌ[ý ]çY ................

))

A

B C D
Y0 1150

400

(A) 650 (B) 750 (C) 450 (D) 550

61. 1 5 3 12 3 4 ..............
2 7 13 2

+ × − ÷ =

(A) 188
56 (B)

181
56

−

(C) 133
56 (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
62.

3
17

 th of a number is 8. Find its two third.
AOôç aeFîç» 

3
17

 %e`» ]çX 18 c÷ã_ aeFîçäOôç» VÇ+-TÊöTöÝÌ̂ çe`» ]çX ..........................

AEõ×Oô aeFîçÌ[ý 

3
17

 %eã`Ì[ý ]çX 18 c÷ã_ aeFîç×OôÌ[ý VÇ+-TÊöTöÝÌ̂ çeã Ì̀[ý ]çX ........................................*
(A) 68 (B) 32 (C) 102 (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
63.

( ) ( )0.8 0.4243 243 ..........................÷ =

(A) 9 (B) 3 (C) 27 (D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

64. In IPL T-20 match 7 teams have joined. Each team played twice with each of the remaining teams in the first
round. Find the total number of games in the first round.
IPL T-20 åF_Tö 7 Oôç Vã_ %e` GÐc÷S Eõ×»ä$K÷* ̂ ×V YÒ×TöäOôç Vã_ [ýçEõÝ V_» éaãTö VÇ[ýç»êEõ åFä_ åTöãÜ™ö YÒU] »ç=‰øTö ]ÇPö ×Eõ]çXFX åF_
%XÇ×œöTö c÷_ ×XSïÌ̂  Eõ»ç*



IPL T-20 åF_çÌ̂  7 ×Oô V_ %e` GÐc÷S EõãÌ[ý A[ýe YÒ×Tö×Oô V_ [ýçEõÝ Vã_Ì[ý açãU VÇ[ýçÌ[ý EõãÌ[ý åFã_* YÒU] Ì[ýç=ã‰ø å]çOô EõÌ̂ ×Oô åF_ç %XÇ×œöTö c÷Ì̂  ?
(A) 14 (B) 60 (C) 28 (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
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65. A lawn is in the form of a rectangle having its sides in the ratio 3:5. The area of the lawn is 1
15  hectare. Find

the length and breath of the lawn.
AFX %çÌ̂ TöçEõç» [ýç×G$K÷ç» VÝH %ç»Ó YÒØšö» %XÇYçTö 3:5, ̂ ×V Eõç×_ 

1
15

 åc÷kô» c÷Ì̂ , åTöãÜ™ö [ýç×G$Jôç» VÝH %ç»Ó YÒØšö ×XSïÌ̂  Eõ»ç*

AEõ×Oô %çÌ̂ TöçEõçÌ[ý [ýçGçãXÌ[ý éVHïî C YÒãØšöÌ[ý Eõç×_ 3:5, ^×V Eõç×_ 

1
15

 åc÷kôÌ[ý c÷Ì^, Töã[ý [ýçGçãXÌ[ý éVHïî C YÒØšö ×XSïÌ^ EõÌ[ý*
(A) 3, 5 (B)

1
5

, 

1
3

(C)

1
3

,

1
5

(D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

66. 1 sq cm = ........................... sq mm
1 [ýGï ×]. = .................... [ýGï ×].×].
(A) 100 (B) 10 (C) 1000 (D) 10000

67. In 

6(2 1) 8 14x − + =

, the value of 

' 'x

 is .................

6(2 1) 8 14x − + =

 Tö 

' 'x

» ]çX éc÷ä$K÷ .................* / 

6(2 1) 8 14x − + =

 åTö 

' 'x

 AÌ[ý ]çX c÷_ ............................*
(A) -1 (B)

13
12

(C)

31
12

(D) +1
68. First, third and the fourth terms of a proportion are 6, 12 and 36. Then the second term is ................

A$Oôç a]çXÇYçTö» YÒU], TÊöTöÝÌ̂  %ç»Ó $JôTÇöUï YV 6, 12 %ç»Ó 36 c÷ã_ ×¥TöÝÌ̂  YVäOôç c÷[ý ..................
AEõ×Oô a]çXÇYçãTöÌ[ý YÒU], TÊöTöÝÌ̂  A[ýe »JôTÇöUï YV 6, 12 A[ýe 36 c÷ã_ ×¥TöÝÌ̂  YV×Oô c÷ã[ý ................................*
(A) 12 (B) 18 (C) 24 (D) 108

69. Instruments used to bisect a given line segment
AQöç_ å»FçF‰øEõ ×¥F×‰øTö Eõ×»[ýê_ ........................... agLÇ×_ ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
AEõ×Oô åÌ[ýFçF‰øãEõ ×¥F×‰øTö Eõ×Ì[ýãTö ................................... [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ *
(A) scale and protractor (B) scale and compasses (C) scale and setsquare (D) scale

å•õ_ %ç»Ó åEõçS]çX ̂ Ü—ö å•õ_ %ç»Ó Eõ¶Yç$K÷ å•õ_ %ç»Ó æ$JôOô•ÇõÌ̂ ç» å•õ_
å•õ_ A[ýe åEõçS]çX ̂ Ü—ö å•õ_ A[ýe Eõ¶Yç»a å•õ_ A[ýe åaOôã•õçÌ̂ çÌ[ý å•õ_

70. Sum of two integers is +62. If one of the integer is -48 then the other is .................
VÇOôç %F‰ø aeFîç» å^çGZõ_ +62, ̂ ×V Töçã» AOôç aeFîç -48 c÷Ì̂  åTöãÜ™ö %çXäOôç aeFîç .......................*
VÇ×Oô %F‰ø aeFîçÌ[ý å^çGZõ_ +62, ^×V +c÷çÌ[ý AEõ×Oô aeFîç -48 c÷Ì̂ , Töã[ý %YÌ[ý×Oô .............................*
(A) +14 (B) -14 (C) -110 (D) +110

71. A man distributes 0.375 of his money to his wife and 0.4 to his son. He has still 3,375 left with him.
How much initial money did the man have ?
ALX ]çXÇc÷ åTöCg» WýX» 0.375 %e` Y±óöÝEõ %ç»Ó 0.4 %e` YÇyEõ ×VÌ̂ çTö 3,375 OôEõç [ýçEõÝ Uç×Eõ_* åTöCg» ]ÇPö WýX ×Eõ]çX %ç×$K÷_ ?
AEõLX ]çXÇb ×XãLÌ[ý WýãXÌ[ý 0.375 %e` Y±óöÝãEõ A[ýe 0.4 %e` YÇyãEõ åVCÌ^çÌ[ý YÌ[ý 3,375 OôçEõç [ýçEõÝ UçãEõ* =XçÌ[ý å]çOô
WýãXÌ[ý Y×Ì[ý]çS .....................................*
(A)  13,750 (B)  15,000 (C)  7,750 (D) None

A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂
72. The ascending order of 6411, 6144, 6344, 6744 is ...............

6411, 6144, 6344, 6744 » =WýïyÔ] éc÷ä$K÷ ..................................* / 6411, 6144, 6344, 6744 AÌ[ý =WýïyÔ] c÷_ ..............................*
(A) 6144, 6344, 6411, 6744 (B) 6744, 6411, 3644, 6144
(C) 3644, 6411, 6144, 6744 (D) 6144, 6411, 6744, 6344



73. 36(8-3)=................
(A) (36x8)-3 (B) (36x8)x(36-3) (C) (36x8)-(36x3) (D) None of these

A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂
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74. Which of the following number is divisible by 11 ?
Tö_» åEõçXäOôç aeFîç 11 å» ×[ý\öçLî ? / XÝä»JôÌ[ý åEõçX aeFîç 11 ¥çÌ[ýç ×[ý\öçLî ?
(A) 31,16,365 (B) 9,01,351 (C) 87,90,322 (D) None of these

A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂
75. Observe the following sums. Then find the sum of 1 + 3 + 5 + 7 + 9 + ..................... + 19 ?

Tö_» å^çGZõ_ åEõ+Oôç %WýîçÌ̂ X Eõ×» 1 + 3 + 5 + 7 + 9 + ..................... + 19 » å^çGZõ_ ×XSïÌ̂  Eõ»ç*
XÝä»JôÌ[ý å^çGZõ_ m×_ åVãF 1 + 3 + 5 + 7 + 9 + ..................... + 19 AÌ[ý å^çGZõ_ ×XSïÌ̂  EõÌ[ýç*

1
1 + 3

1 + 3 + 5
1 + 3 + 5 + 7

 

= 1 x 1   = 1
= 2 x 2   = 4
= 3 x 3   = 9
= 4 x 4   = 16

(A) 121 (B) 81 (C) 100 (D) 64

General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

76. Kinetic energy of a gas molecule depends on ................
åG$K÷ÝÌ̂  %XÇ» G×Tö`×Nþ ................................. » CY»Tö ×X\öÛ» Eõã»* / GîçãaÌ[ý %SÇÌ[ý G×Tö`×Nþ ............................ AÌ[ý =YÌ[ý ×X\öÛÌ[ý EõãÌ[ý*
(A) volume (B) temperature (C) pressure (D) None of these

%çÌ̂ TöX =bÕTöç $JôçY A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
77. What is the least amount of energy required by a man to lift an object weighing (32)0.8 N to a height of 3m ?

ALX ]çXÇãc÷ (32)0.8 ×X=OôX CLX» [ýØ™Çö AOôç 3 ×]Oôç» =‡ûTöçê_ =Pöç[ýê_ XÇXîTö] ×Eõ]çX ̀ ×Nþ» YÒãÌ̂ çLX ?
AEõLX ]çXÇb (32)0.8 ×X=OôX CLãXÌ[ý AEõ×Oô [ýØ™Çö 3 ×]. =¬JôTöçãTö =Pöçã_ XÉXîTö] EõTöOÇôEÇõ `×NþÌ[ý YÒãÌ̂ çLX ?
(A) 64J (B) 48J (C) 48N (D) None of these

64 LÇ_ 48 LÇ_ 48 ×X=OôX A$OôçC Xc÷Ì̂ / AEõ×»OôC XÌ̂
78. The handle of a tubewell is a ...................

×Oô=[ýã¾_» c÷çTö_Qöç_ .....................................* / ×Oô=[ýã_Ì[ý c÷çTö_×Oô ...........................................*
(A) 1st order lever (B) 2nd order lever (C) 3rd order lever (D) None of these

YÒU] æ Ò̀SÝ» ×_\öç» ×¥TöÝÌ̂  æ Ò̀SÝ» ×_\öç» TÊöTöÝÌ̂  æ Ò̀SÝ» ×_\öç» $A$OôçC Xc÷Ì̂
YÒU] æ Ò̀SÝÌ[ý ×_\öçÌ[ý ×¥TöÝÌ̂  æ Ò̀SÝÌ[ý ×_\öçÌ[ý TÊöTöÝÌ̂  æ Ò̀SÝÌ[ý ×_\öçÌ[ý AEõ×»OôC XÌ̂

79. Which of the following instruments is used to check whether electricity is flowing through a substance or not ?
[ýØ™Çö AOôç» ]çãL×V ×[ýVÇîd YÒ[ýç×c÷Tö éc÷ä$K÷ãX Xç+ Lç×X[ý» [ýçã[ý Tö_» åEõçXäOôç agLÇ×_ [ýî¾c÷ç» Eõ»ç c÷Ì̂  ?
[ýØ™Çö AEõ×OôÌ[ý ]Wýî ×VãÌ^ ×[ýVÇîd YÒ[ýç×c÷Tö c÷+Ì^çä»K÷ Xç Xç+ Töçc÷ç LçXçÌ[ý LXî XÝä»JôÌ[ý åEõçX ^Ü—ö×Oô [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì^ ?
(A) Voltmeter (B) Ammeter (C) Cell (D) None of these

\ö·Oô×]Oôç» / \ö·Oô×]OôçÌ[ý A×]Oôç» / A×]OôçÌ[ý åEõçb $A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
80. The CGS Units of speed is ..................

VÐÓ×Tö» CGS AEõEõ éc÷ä$K÷ ..........................* / VÐÓ×TöÌ[ý CGS AEõEõ c÷_ ............................*
(A) cm/g (B) m/s (C) m/g (D) cm/s

æ$K÷.×]./GÐç (æ$a.×]./GÐç) ×]./æ$K÷ãEõ‰ø (×]./æ$aãEõ‰ø) ×]./GÐç. æ$K÷.×]./æ$K÷ãEõ‰ø (æ$a÷.×]./æ$aãEõ‰ø)
81. The capacity to do work is called ..................



Eõç ï̂î Eõ»ç» aç]UïîEõ .............................. å[ýçã_* / Eõç ï̂î EõÌ[ýçÌ[ý aç]UïãEõ .................................... [ýã_*
(A) energy (B) force (C) motion (D) speed

`×Nþ [ý_ G×Tö VÐÓ×Tö
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82. Equal volumes of different substances .................
a] %çÌ̂ TöX» aEõã_ç [ýØ™Çö» .....................................* / a] %çÌ̂ TöãXÌ[ý aEõ_ [ýØ™ÇöÌ[ý ..................................*
(A) have equal weights (B) have equal densities

CLX a]çX %çÌ̂ TöX a]çX
(C) need not have equal weights (D) None of these

CLX a]çX Xc÷[ýCg Yçã» / CLX a]çX XçC c÷ãTö YçãÌ[ý $A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
83. Pure water is a ..................... conductor of electricity.

×[ý£ˆù YçXÝ ×[ýVÇîd» ............................... Y×»[ýçc÷Ý* / ×[ý£ˆù L_ ×[ýVÇîãTöÌ[ý ......................... Y×Ì[ý[ýçc÷Ý*
(A) good (B) bad (C) semi (D) None of these

aÇ EÇõ %Wýï AOôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
84. To separate a mixture of two or more gases ...................... method is used.

VÇ+ [ýç TöçãTöç×WýEõ åG$K÷» ×] Ò̀Eõ YÊUEõ Eõ×»[ýê_ .......................... YÒ×yÔÌ̂ ç YÒãÌ̂ çG Eõ»ç c÷Ì̂ *
VÇ+ [ýç TöãTöç×WýEõ GîçãaÌ[ý ×] Ò̀SãEõ YÊUEõ Eõ×Ì[ýãTö ............................. YÒ×yÔÌ̂ ç YÒãÌ̂ çG EõÌ[ýç c÷Ì̂ *
(A) sedimentation (B) distillation (C) decantation (D) None of these

%¾ãlùYS / %[ýãlùYS YçTöX %çØƒöç¾S / %çØƒöç[ýçX $A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
85. Municipality officials use chlorine in water purification. Why ?

åYì» ×XG]» ×[ýbÌ̂ çaEõã_ YçXÝ ×[ý£ˆù Eõ»STö zõ'×»S [ýî¾c÷ç» Eõã»* ×EõÌ̂  ?
åYìÌ[ý ×XGã]Ì[ý Eõ]ï»JôçÌ[ýÝÌ[ýç L_ ×[ý£ˆù EõÌ[ýçÌ[ý LXî åEõX æzõç×Ì[ýS [ýî[ýc÷çÌ[ý EõãÌ[ýX ?
(A) Chlorine cleans water (B) Chlorine helps water to cool easily

zõ×»ãS YçXÝ Y×»›õç» Eõã» / zõ×Ì[ýS L_ãEõ Y×Ì[ý•õçÌ[ý EõãÌ[ý zõ×»ãS YçXÝ Pöç‰øç Eõ»çTö ac÷çÌ̂  Eõã» / zõ×Ì[ýS L_ Pöç‰øç EõÌ[ýçÌ̂  ac÷çÌ̂  EõãÌ[ý
(C) Chlorine kills harmful bacteria (D) None of these

zõ×»ãS %×XrôEõç»Ý å[ýãkô×»Ì̂ ç W[ýea Eõã» $A$OôçC Xc÷Ì̂
zõ×Ì[ýS %×XrôEõçÌ[ýÝ å[ýãkô×Ì[ýÌ^ç W[ýe` EõãÌ[ý AEõ×»OôC XÌ̂

86. Photo synthesis requires .......................
açã_çEõ aeä À̀bSTö .....................................» %ç¾`îEõ* / açã_çEõ aeä À̀bãS ................................. AÌ[ý %ç[ý`îEõ*
(A) Water (B) Sunlight (C) Chlorophyll (D) All of these

YçXÝ / L_ aÉ^ï» åYçc÷» / aÉã ï̂Ì[ý %çã_ç zõ»'×Zõ_ / æzõçÌ[ý×Zõ_ %çOôç+ãEõ+Oôç / a[ýEõÌ̂ ×Oô
87. The process of losing water by plants is called .....................

=×àöãV ................................ YÒ×yÔÌ̂ ç» ¥ç»ç YçXÝ A×» ×VãÌ̂ * / =×àöV ............................. YÒ×yÔÌ̂ çÌ[ý ¥çÌ[ýç L_ »K÷çäQÍö*
(A) evaporation (B) transpiration (C) condensation (D) All of these

[ýç¹YÝ\ö¾X / [ýç¹YÝ\ö[ýX YÒãØ‘öVX HXÝ\ö¾X / HXÝ\ö[ýX %çOôç+ãEõ+Oôç / a[ýEõÌ̂ ×Oô
88. The melting point of ice is ...................

[ý»Zõ» G_XçeEõ ..........................* / [ýÌ[ýãZõÌ[ý G_XçeEõ ................................*
(A) 00C (B) 370C (C) 400C (D) 1000C

89. A compass can be used to ....................
................................ Eõ¶Yç$K÷ [ýî¾c÷ç» Eõ×»[ý Yç×»* / .................................. Eõ¶Yça [ýî[ýc÷çÌ[ý EõÌ[ýãTö Yç×Ì[ý*
(A) find the altitude of a place (B) find only the north of a place

åEõçãXç AFX Pöç+» =¬JôTöç =×_Ì̂ ç[ýê_ åEõçãXç Pöç+» åEõ¾_ =wø» ×V` =×_Ì̂ ç[ýê_
åEõçX ØšöçãXÌ[ý =¬JôTöç ]çYãTö åEõçX ØšöçãXÌ[ý £WýÇ =wøÌ[ý ×VEõ ×XSïÌ̂  EõÌ[ýãTö



(C) find all the directions of a place (D) make artificial magnets
åEõçãXç Pöç+» aEõã_ç ×V` =×_Ì̂ ç[ýê_ EÊõ×Åy] $JÇô¶‘öEõ aç×L[ýê_
åEõçX ØšöçãXÌ[ý aEõ_ ×VEõ ×XSïÌ̂  EõÌ[ýãTö* EÊõ×Åy] »JÇô¶‘öEõ açLçãTö
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90. Global warming is the resulf of the increase in .................... in air.
åGç_EõÝÌ̂ ç =bÕTöç» Eõç»S éc÷ä$K÷, [ýçÌ̂ ÇTö ......................... [ýÊ×ˆù åc÷ç¾ç*
åGç_EõÝÌ̂  =bÕTöçÌ[ý EõçÌ[ýS c÷_ [ýçÌ̂ ÇãTö ................................ [ýÊ×ˆù c÷CÌ̂ ç*
(A) nitrogen (B) oxygen (C) water vapour (D) carbon dioxide

Xç+®ÏôãLX %×jãLX L_ÝÌ̂  [ýç¹Y Eõç[ýïX Qöç+%jç+Qö
91. Which of the following processes can not take place in the absence of oxygen ?

Tö_» åEõçXäOôç YÒ×yÔÌ̂ ç %×jãLX» %XÇY×Øšö×TöTö aeG×PöTö c÷[ý åXç¾çã» ?
XÝä»JôÌ[ý åEõçX YÒ×yÔÌ̂ ç %×jãLãXÌ[ý %XÇY×ØšöãTö aeG×PöTö c÷Ì̂  Xç ?
(A) combustion (B) respiration (C) oxidation (D) All of these

Vc÷S Ÿ̀aX Lç»S / LçÌ[ýS %çOôç+ãEõ+Oôç / a[ýEõÌ̂ ×Oô
92. Which of the following is not insectivorous ?

Tö_» åEõçXäOôç YTö†ã\öçLÝ Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô YTö†ã\öçLÝ XÌ̂  ?

(A) (B) (C) (D)
93. Guava is a source of Vitamin .....................

]WýÇ»Ý %ç] éc÷ä$K÷ ×\öOôç×]X ............................ » =da* / åYÌ̂ çÌ[ýç c÷_ ×\öOôç×]X ........................................ AÌ[ý =da
(A) A (B) B (C) C (D) D

94. Mohan has a cup of rice, two chappatis, two vegetable curries and ghee in his plate of meals. What is missing
in his meals ?
å]çc÷X» FçVî Töç×_EõçTö AEõçY \öçTö, VÇOôFX »Ó×Oô, VÇ+ Wý»S» Yç$$Jô×_» %çtç %ç»Ó ×H= Uç×Eõã_, åTöCg» FçVîTö ×Eõc÷» XçOô×X éc÷ä$K÷ ?
å]çc÷ãXÌ[ý FçVî Töç×_EõçÌ̂  AEõEõçY \öçTö, VÇ×Oô Ì[ýÓ×Oô, VÇ+ WýÌ[ýãSÌ[ý a‹ÝÌ[ý åMõç_ A[ýe ×H UçEõã_, TöçÌ[ý FçãVî ×EõãaÌ[ý %\öç[ý Ì[ýãÌ̂ ä»K÷ ?
(A) fats (B) proteins (C) salt (D) water

$Jô[ýÞ / »Jô×[ýï YÒ'×OôX / æYÒç×OôX ×X]F / _[ýS YçXÝ / L_
95. The two main processes of making fabrics are ......................

EõçãYç» éTöÌ̂ ç» Eõ»ç» ]ÉFî YÒ×yÔÌ̂ ç VÇOôç éc÷ä$K÷ ....................*
EõçYÌ[ý éTöÌ̂ çÌ[ý EõÌ[ýçÌ[ý ]ÇFî YÒ×yÔÌ̂ ç VÇ×Oô c÷_ ..........................*
(A) ginning and weaving (B) weaving and knitting (C) weaving and spinning (D) None of these

EõYçc÷ WýÉXç %ç»Ó [ýÌ̂ X [ýÌ̂ X %ç»Ó mgPöç [ýÌ̂ X %ç»Ó aÉTöçEõOôç AOôçC Xc÷Ì̂
TÇö_çWýÇXç C [ýÌ̂ X [ýÌ̂ X C WýÇXç [ýÌ̂ X C aÇTöçEõçOôç AEõ×OôC XÌ̂

96. In monocots, ..................... system is observed.
AEõ[ýÝL YyÝTö .............................. GgçU×X åVFç ̂ çÌ^*
AEõ[ýÝL YyÝãTö ............................. GgçU×X åVFç ̂ çÌ̂ *
(A) tap root (B) fibrous root (C) both A and B (D) None of these

]ÉFî ]É_ m¬K÷]É_   A %ç»Ó B =\öÌ̂ /A A[ýe B =\öÌ̂ AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
97. Which of the following contains reticulate venation on its leaves ?



Tö_» åEõçXäOôç» YçTöTö Lç_×a»ç×[ýXîça UçãEõ ? / XÝä»JôÌ[ý åEõçX×OôÌ[ý YçTöçÌ̂  Lç_× Ì̀[ýç×[ýXîça UçãEõ ?
(A) Bamboo (B) Sugarcane (C) Mango (D) Date palm

[ýgçc÷ / [ýgç` EgÇõ×c÷Ì̂ ç» / EÇõ× Ì̀̂ çÌ[ý %ç] åFLÇ» / åFLÇÌ[ý
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98. Kidneys, lungs, gills and sweat glands are parts of ..................... system in animals.
YÒçSÝ» [ýÊhõ, c÷çCg-ZõçCg, ZÇõ_ %ç»Ó H]ï GÐ×Üšö éc÷ä$K÷ ............................. TöÜ—öÐ» AãEõçOôç %e`*
YÒçSÝÌ[ý [ýÊhõ, ZÇõaZÇõa, ZÇõ_Eõç A[ýe H]ï GÐ×Üšö c÷_ .......................... TöãÜ—öÌ[ý AEõ×Oô %e`*
(A) digestive (B) excretory (C) blood circulation (D) nervous

Yç$JôX å»$JôX / åÌ[ýJôX »Nþ Y×»[ýc÷X / Ì[ýNþY×Ì[ý[ýc÷X ØoöçÌ̂ Ç
99. Obesity can be caused by the over intake of ..............

........................ å[ý×$K÷êEõ Fçã_ å]V [ý§_Töç c÷Ì̂ * / ......................... å[ý`ÝEõãÌ[ý åFã_ å]V[ý§_Töç c÷Ì̂ *
(A) carbohydrates (B) vitamins (C) minerals (D) fats

Eõç[ýï c÷ç+äQÎöOô ×\öOôç×]X F×XL _¾S / F×XL _[ýS åØoöc÷ YVçUï
100. Which part of our body has pivotal joint ?

%ç]ç» åVc÷» åEõçXäOôç %e`Tö åEõ³VÐÝÌ̂  a×µù %çä$K÷* / %ç]çãVÌ[ý åVãc÷Ì[ý åEõçX %eã` åEõ³VÐÝÌ̂  a×µù %çä»K÷ ?
(A) shoulder (B) knees (C) ribs (D) neck

Eõçµù / EgõçWý %çgPÇö / c÷çOÇô Eõç×]c÷çQÍö / YgçLÌ[ý ×Qö×Iø / G_ç

XXXXXX


